§\\\\\\\\ i \\ T

S L
R SRS
S\ Mg -NiC
“. =\ II.
L2

§J,—ﬁ ik




N/ % 4 //

A/

A180/1

£

)

N

03/2006




HOLIMS 1v3S H311VHOS Z1IS 3931S HN31OVINOD|65¢EE 57
081V INVHA 081V NJNHVH 081V SISSVHO|801E€ oy
13XMOVHE LHOITHSVY 4| "L 1VH LTHONITINIMNNANNY JHVYHJOHAD 1HOddNS|/68L€E 6€
ININAIIM F1ANVH 44149 J3INDIOd|8681E 8¢
13XOVH4 NOILDOI.1OHd ONNYILIVHZLAHOS NOILO3104dd 140ddNS|960€€E LE
advno HOLIMS MOvd|  ONNAIFTMHIAYTLTVHOS| "1dNYY3ILINI'HVY FOVNIHVO|S60€E 9€
agvno HOLIMS LNOdd|  ONNAIFIHYIAYILIVHOS| "LdNHYILNI'AV IOVNIHVYI|60€E Ge
1HOY dv3d 1dIMS H3dN3d "HY"LNIH 139074104 ‘HA'HVY 3N04d 3d4vO|[080€€ 143
dINVTO 31ANVH JIT13IHOS4dIHD J3INDIOd 3AIH9|620€€ €e
13IXOvd9 ONNYILIVH|[ dN3ILdNYYILNI L1HOddNS|861EE 43
JONV1d 13909 Nv304dVv|9681LE L€
1140 1v3S 11dM Z1IS 131dINOD ID31S|6681E Ll
M3HOS 39NVHHOS SIAIELBLE 9l
SINHY S'0X¥2-01 MIHOS| SINHY G'0X¥2-01 3GNVHHOS SINHY S'0X¥2-01 SIA[SYOEE Gl
W91/ HIHSYM MO0 «91/2 391I3HOSH3d3d| .91/Z HIMOUYD F119dNOY|S2e81E 142
o/} HIHSVM MO0 o/} 3d13HOSH3d3d «o/1 HIMOYD FT113ANOY|E28LE €l
91-8/€ 1NN 91-8/€ H3LLNN 91-8/€ NOYO3|2c0EE Sl
0¢l-01L 1NN dO1S 02l-01 H311NNJOLS 021-01 'H4OLNV NOHO3|610€€E HL
€l-¢/I 1NN €l-¢/1 43.L1NN €1-¢/1 N0YO3|010EE 0}
8L-91/G 1NN dO1S 81-91/G H311NNdOLS 81-91/G "'H4O.LNV NOHIO3|900€E 6
G2'2x8L-91/S MIHOS GZ'2x81L-91/S 3gNVHHIOS GZ'2X81-91/S SIA|200EE 8
G'1X02-9}+/. MIHOS G'IX02-91/. 3GNVHHOS G'IX02-91/L SIN|Y9LLE L
¥X81-91/G MIHOS ¥X81-91/G 3dNVYHHOS PX8L-91/G SIA[L9/1€ 9
1X91-8/6€ M3HIS 1X91-8/€ 39NVHHOS IX91-8/€ SIA[89LLE g
G/'0X02-¥/k MIHOS G/'0X02-¥/F 3GNVHHOS G/'0X02-¥/} SIN|26LLE 14
¥2-01 LNN dO.1S ¥2-0F H311NNJO1S ¥2-01 'H401NVY NOHO3[I641E €
IXgL-¢/L M3HOS IXgl-¢/1 39NvdHOS IXgL-¢/L SIN[48L1E 4
02-91/Z 1NN 02-91/2 431 1NN 02-91/2 NOYD3|I8L1€ -

3 d d ‘'434d| 343d3d

L/08LV




03/2006

A180/2




H3A3T HLIM 3OHS 1393H 1IN IXOvE d3IA3T O3IAV FHIOHOVIN[9/61E 43

ONIHdS j<E[CEE] NIILNIVIN 3d 1HOOS3H|02IEE LE

ONIHdS d3d34 N3ILNIVIN 3d 1HOSS3H |61 LEE 0€

ONIHdS d3d34 13ddvd 3d 1HOSS3IY|8L1EE 62

H3IANITAD IMVHY H3IANITAZSINIHG NI3dd 30 FHANIIAD|ZELEE 8¢

JOHS IMvHd IMOVESNIHA NIFdd 3d FHIOHOVIN[9LLEE LS

IMOA SIATTO 139v9 IdVHO[1661€ Ge

1140 IMvHa Hv3Y 11dX 3SW3HE H31LNIH 117d0 NI3d4 NVI1Vd|¥661€ ve

3719vO IMVHA MHvd 139vMSINTHaGNHVd| ONIMYVd 3d NIFdd 319v0|2661E €2

NNHd IMvdg 13IWINOY.LSINTHG NIFdd 30 HNOFNV.L|SI8IE 44

di10-3 dino-3 SdI0|SLIEE 34

HOLIMS INVHE Mdvd H3LIVHOSSINIHAGMHVd| 'MdVd NI3dd HN3LOVINOD|SOvLE 0¢c

dO.1S HOLIMS ALIJVSYTHOSNY H311VHIOS HIHOIS|ILIHNOIS ' LOV.LNOD 33.1N4d[L61EE 6}

JHAL N3d134 N3Nd[6961€ 8l

INIH 39134 JLNVI[9v81E Ll

11dO T99HM 1dM dvd 31140 3NOY| 1S0EE 9l

ct/€ Nid §31109 ct/€ LNINdS ¢€/€ ANAN3IH I11IdNOD|6v0EE Gl

Nid 1d11S IXV|0661€ 142

'ASSVY H3AT1 IMNVHE MHVd|  L1dXM 1393HISINIHGNHVYd] ONIMHVYd 3d NIFdd H3INI1|6861LE €l

AIA 113M JLIIAVIO|EY8LE Sl

Nid 1NIdS JdT111dNOD|2861E HL

SINHY S'0X¥2-01 MIHOS| SINHY G'0X¥2-01 3GNVHHOS SINHY S'0X¥2-01 SIA[SYOEE 0}

91/G HIHSVM 91/G 3913HOS 91/S 3713AdNOY|2S L EE 6

91-8/€ LNN 91-8/€ HILLNIN 91-8/€ NOHO3|2c0EE 8

a3Lio1S 1NN d3LLNANINOYM XNVY3IN3IHO V NOHO3|Sv81E L

G/'0X81-91/S MIHOS G/'0X81-91/S 3gNVHHOS G/'0X81-91/S SIA| LS8LE 9

G'1X9}-8/€ MIHOS G'IX91-8/€ IGNVHHOS G'IX91-8/€ SIA|2Y8LE g

M3HOS 133IHM 39NvHHOSAvY JNOY 3d SIA|Z.61E 14

8L-91/G 1NN 3OVD 81-91/G H31LININNILSVM 81-91/G 1NN NOYD3|v6L1LE €

¢XEl-¢/I M3HOS ¢Xg1-¢/1 3dNVHHIS cXE1-2/1 SIN[E6LLE 4

SOHS 0E€XGL X LN MIHOSPHS 0EXG X2 HN 3NVHHOS SOHS 0EXGL EXZLIN SIA|SYLEE -
3 d d ‘'434d| 343d3d

¢/08LY




12/2007

A180/3




GZ'1-02X8IN MIHOS

GZ'L-02X8IN IGNVHHOS

GZ'1-02X8IN SIA

100EE

3719vO 311L104HHL dI10-3

di1013aviSVO

ZV9 3d 319vO SdI'10

6881€

JOVMNIT JONV.LSIOIdNNd IdNOd H3IATT IOIL|ICLEE 9l

"H3IAOD HIATTNOILOVHL| FOVIdNVIvAdIdSHIId.INY| AV 31vd3d LNJWILIAIH[V68LE Gl
14VHS H3A31 NOILOVH.L JTIIMIVAIJSTIIHLINY ‘AV'A3d H3IATT IXV|S681E 142
13XOvHg19vO 31LLIOYHL ONNYILTIVHIIAVISYD|  ZVv9O 3d 3719VO 1HOddNS|690€€ €l
1vd3d 1004 1vd3dsg3Id.1SNY 1INIWIONVAV.A 31vd3d|E68LE Sl

319vO J311104H.L 139vMSVYO ZV9O 33 3719v9O|8881€ HL
JTHONNMA ANTTIOTIONM 3TN1LOH|0681E 0}

SWHY 1 X¥2X0L M3HOS| SINHY IXpeXx0l 38NVYHHOS SINHY 1 X¥ZX0 | SIA|0Y0EE 6
dino dino JOVANO1d 3d dI'13|201EE 8

1v3S 3dIM 139V JOVdANO1d 3d TId[101EE L

8¢-v/L LNN YOO 82¢-v/L HILLNINJOLS 8¢-v/I '"H401NV NOYHD3|168LE 9

¥2-01 LNN MO0 ¥¢-01 H311NINdOLS ¥¢-01 "'H401NV NOYO3|0c0EE g

8¢-v/1 1NN 8¢-v/1 HILLNN 8¢-¥/1 NOYO3|S10EE 14

€

4

}

G2'1x8/€ NId 110H

GZ'Ixg/g 1I1S

G2 1X8/€ 1IAD I11dNOD

c68lLE

3

d

d

‘434

EL-ELEL]

€/08LY




A180/4

/Q/;,{ 18

\'%»’* -/
,9‘\‘ 27
\ ), 17
. G
&
2

03/2006




A180/4

REPERE |REF. F D E
1 31790|RDLE 2,25x0,75x0,25 SCHEIBE 2,25x0,75x0,25 WASHER 2,25x0,75x0,25
2 31793]VIS 1/2-13x2 SCHRAUBE 1/2-13x2 SCREW 1/2-13x2
3 31821]|VIS 3/8-16x1,25 SCHRAUBE 3/8-16x1,25 SCREW 3/8-16x1,25
4 31977]VIS DE ROUE RADSCHRAUBE WHEEL SCREW
5 31770]VIS 3/8-16x2,5 SCHRAUBE 3/8-16x2,5 SCREW 3/8-16x2,5
6 33008]ECROU A CRENEAUX 3/4-10 |[KRONENMUTTER 3/4-10 NUT SLOTTED 3/4-10
7 33016|ECROU 3/8-16 MUTTER 3/8-16 NUT 3/8-16
8 31845|ECROU A CRENEAUX KRONENMUTTER NUT SLOTTED
9 31738|GOUPILLE 1/4x1,5 STIFT 1/4x1,5 PIN 1/4x1,5
10 31835|ROULEMENT CONIQUE KONISCH.KUGELLAGER BALL BEARING
11 31834|JOINT A LEVRES SIMMERING SEAL
12 31841|GRAISSEUR 1/4-28 SCHMIERNIPPEL 1/4-28 GREASE ZERK 1/4-28
13 31911|GOUPILLE FENDUE 1/8-1 SPLINT 1/8-1 COTTER PIN 1/8-1
14 31836|CAGE A ROULEMENT KUGELLAGERGEHAUSE BEARING CUP
15 31961|CLAVETTE KEIL KEY
16 31982|GOUPILLE SPLINT PIN
17 31843|CLAVETTE KEIL KEY
18 33051|ROUE COMPLETE RAD KPLT WHEEL CPLT
21 31839|JOINT A LEVRES SIMMERING SEAL
22 31837|CAGE A ROULEMENT KUGELLAGERGEHAUSE BEARING CUP
23 31838|ROULEMENT CONIQUE KONISCH.KUGELLAGER BALL BEARING
24 31840|ENTRETOISE BUCHSE SPACER
25 31832|BRAS DE DIRECTION LENKUNGSARM STEERING ARM
26 33107|BRAS PIVOT AVANT ARM ARM
27 31844|MOYEU DE ROUE AVANT VORDERRADFLANSCH FRONT WHEEL HUB




10

12

13

R

\/

RETURN

11

A180/5

TO WATER SEPERATOR

/ PUMP

03/2006









































































































































































